FEROOFT DA AREERXEZONDHEREEIZDOULNT

1 REARR (BRATZERRO HRE O OB

SMAE (20225%)118A16H

BB ETOMREAE 11811 BHEEREZK(A) = &
265,277 259 265,536
2 SARRER., BEAEFICEIIERMB(A—T T —28HHE)
BB ETOMHEREH 11 A 11 BOHEZRE%(B) a &
259,365 246 259,611
O#HAEIAFT VAL AREEMRKEAMISIKRE(11H118)
AR (AR 5 A4
- REM-2BENES— o] e | & | B
e | we | wn | ma | o | =] k| ke | As ] x= i g
1 ER 181 2 1 14 8 3 1 12 0 0 1| 223 88 50( 138 361
2 BXEE 11 2 0 1 0 0 0 0 0 0 0 14 0 0 0 14
(3 EAHE 1 0 0 1 0 0 1 0 0 0 0 3 1 0 1 4
= 4 TETH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
5 Z0Dit 19 0 0 0 0 0 0 0 0 0 0 19 0 0 0 19
it 212 4 1 16 8 3 2 12 0 0 1] 259 89 50 139 398
T ALhOBRRERERT 55 HT .
DFEE. HEALEE - M - COCOARANE(C 124 2 0 12 1 3 1 4 0 0 of 147 60 39 99] ~ 246
+q |BIT B185
Equz 2 1L B BRE 88 2 1 4 7 0 1 8 0 0 1 112 29 11 40 152
';5\.
Hi 212 4 1 16 8 3 2 12 0 0 1 259 89 50| 139 398




